
Eighteen Ways to Write the 4+3 Fact Family 
 
 

A)  4 + 3 =  Ann had 4 marbles and got 3 more. How many did 
she have now? 

B)  3 + 4 =  Bill had 3 marbles and got 4 more. How many did 
he have now? 

C)  7 – 4 =  Ann had 7 marbles and lost 4. How many did she 
have left? 

D)  7 – 3 =  Bill had 7 marbles. Charlie had 3 marbles.  How 
many more did Bill have than Charlie? 

E)  4 +  = 7 Ann had 4 marbles and got some more. Now she 
had 7. How many marbles did she get? 

F)  3 +  = 7 
Bill had 3 blue marbles and the rest were yellow. 
He had a total of 7. How many yellow marbles did 
he have? 

G)  7 = 4 +  Ann had a total of 7 marbles. 4 were blue. The rest 
were not blue? How many were not blue? 

H)  7 = 3 +  Bill wanted 7 marbles to play in the tournament. 
He had 3. How many more did he need? 

I)  7 =  + 4 Ann had 7 marbles. Some were yellow. The other 4 
were blue. How many were yellow? 

J)  7 =  + 3 Bill had 7 marbles. Some were not blue. The other 3 
were blue. How many were not blue? 

K)   + 3 = 7 Ann had some marbles. She got 3 more. Now she 
had 7. How many did she start with? 



L)   + 4 = 7 Bill had some marbles. He got 4 more. Now he had 
7. How many did he start with? 

M)  4 = 7 –  Ann had 4 marbles left. She had started with 7 and 
lost some. How many did she lose? 

N)  3 = 7 –  Bill had 3 marbles. He and Charlie had 7 
altogether. How many marbles did Charlie have? 

O)  3 =  – 4 
Ann had 3 marbles left in her bag. Earlier she had 
had more than 3, but had lost 4. How many had she 
had earlier? 

P)  4 =  – 3 
Bill had 4 marbles at the end of the tournament. He 
had had more before he lost 3. How many had he 
had earlier? 

Q)   – 3 = 4 Ann had some marbles. She lost 3 and then had 4 
left. How many did she have to start? 

R)   – 4 = 3 Bill had some marbles. He lost 4 and had 3 left. 
How many did he have to start with? 
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Eighteen Ways to Write the 4x6 Fact Family 
 
 

A)  4 x 6 =  Steve had 4 buckets of shells. Each bucket had 6 shells. How many 
shells did he have in all? 

B)  6 x 4 =  Steve’s garden was 6 feet by 4 feet. What was the area of Steve’s 
garden in square feet? 

C)  24 ÷ 4 =  
Mary had 24 outfits of shirts and pants. An outfit is one shirt and 
one pair of pants. She had 4 pairs of pants. How many shirts did 
she have? 

D)  24 ÷ 6 =  Mary jumped 24 feet in equal-size jumps. She jumped 6 times. 
How far did she jump each time? 

E)  4 x  = 24 
Steve had 4 groups of ribbons. Each group was the same size. He 
had 24 ribbons altogether. How many ribbons were in each 
group? 

F)  6 x  = 24 Steve’s garden was 6 yards long and had an area of 24 square 
yards. How wide was the garden? 

G)  24 = 4 x  
Mary had 24 outfits—each outfit consisting of one shirt and one 
pair of pants. She had 4 shirts. How many pairs of pants did she 
have? 

H)  24 = 6 x  
Mary ran 24 miles (not quite a marathon). There were 6 signs 
along the way equally spaced out including one at the finish line. 
There was no sign at the beginning of her walk. How far apart 
were the signs? 

I)  24 =  x 4 
Theresa had a shower curtain with an area of 24 square feet. She 
didn’t know how tall it was from floor to ceiling, but she knew that 
her tub was 4 feet long and the curtain just fit. How tall was the 
curtain? 

J)  24 =  x 6 
Tom made 24 sandwiches. Each sandwich had one kind of meat 
and one kind of cheese. He didn’t know how many kinds of meat 
he had, but he knew that he had cheddar, swiss, muenster, colby, 
asiago, and gouda cheeses. How many kinds of meat did he have? 

K)   x 6 = 24 
Tom hopped, skipped, and jumped the same distance each time 
on the hop, skip, jump, hop, skip, and jump Olympic competition. 
He hopped, skipped, and jumped for a total of 24 meters. How 
many meters long was each hop, skip, and jump?  

L)   x 4 = 24 Theresa had some baskets with 4 rolls in each basket. Altogether 
there were 24 rolls. How many baskets of rolls did Theresa have? 
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M)  4 = 24 ÷  
Theresa’s rectangular corn field was 4 hectometers on one side 
and 24 square hectometers in area. What was the length in 
hectometers of the other  side? 

N)  6 = 24 ÷  
Tom wanted to give 6 pieces of gum to as many friends as 
possible. He had 24 pieces of gum. How many friends could be 
give gum to? 

O)  6 =  ÷ 4 
Tom walked around the course 6 times. He wanted to know how 
far he walked. Each time around the course was 4 kilometers. 
How far did Tom walk? 

P)  4 =  ÷ 6 Theresa had 4 shirts.  She made as many outfits as possible with 6 
pairs of pants. How many outfits could she make? 

Q)   ÷ 6 = 4 Theresa gave 6 cookies to each of her four friends and had zero 
cookies left over for herself. How many cookies did she start with? 

R)   ÷ 4 = 6 
Tom’s garden had lots of cabbage. He had 4 rows of cabbage. Each 
row had 6 heads of cabbage. How many heads of cabbage did 
Tom’s garden have? 

 
See if you can determine which of the models on the next page goes best with each problem  
on pages 1 and 2. 
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Eight models for multiplying 4x6 and 6x4 as well as 
finding 24 ÷ 6 and 24 ÷ 4.

1) 2)

3)

4)

5)

6)

7)

8)

0 24

0 24


